Exercise 0.14 – Macromolecules


Q014-01 Which statements are correct about diamond, graphite and a C60 fullerene?

I - The poorest electrical conductor of the three is diamond
II - The atoms in graphite and C60 fullerene are attached to three other carbon atoms 
II - The atoms in diamond and C60 fullerene are arranged in hexagons

A. I and II only

B. I and III only

C. II and III only

D. I, II and III



Q014-02 State the structures of, and the bonding, in diamond and graphite.





Q014-03 Compare and explain the hardness and electrical conductivity of diamond and graphite.





Q014-04 Predict and explain how the hardness and electrical conductivity of C60 fullerene would compare with that of diamond and graphite.






